r=tramFtE N=ESRIEBHL=

=B &ZE

(EREDEY BE  6A EFE  2A) CERi2 9% 6A 16HEHE)
1% BEER | & 98 £ | REOEH
BEE | K |l &# B B | && (3 ol B % | ERoFEE B #AH
Al | (HETR4) (Baehf, XED| &€ A B | £ FAH
- B 21,118 | 65 | B | EHSH [uozureEs ES| BBF0 51,4,6 | 29,6,16
| BER FEREEE 31, 6,
aHE FZNn HRF0 56, 2,22 36 | B ST HT PEREEER o] Rk 22,10, 25] 29,6, 16
| B = EEE—DES 31,6,
mE AlF BE%0 21,8, 14 71| % i) Eid i Tk 18,313 | 29,6,16
| B = REZE 31,6,
wig =8 BBF0 11,4, 20 81 | 5B A SHET Eid i ERE 20,3,15 | 29,6,16
| B = REZE 31,6,
Ml HBEF BE#1 351,27 | 57 | & | THhsH [&itE e FRE 14,11,12] 29,6, 16
EE R4ZE8 31,6,
g RE B0 27,3, 31 65 | B i) RBE i R 24,10,30) 29,6,16
EE R4ZE8 31,6,
ER #E HEF0 46, 11,7 46 PNL ELRBEER " TRk 22,311 | 29,6,16
E = 31,6,
B B ST B8#0 38,10,18 | 53 FHERET EXREE " ERE 29,1,27 | 29,6,16
| B = BIEE 31,6,




HEFBIHEAZRRBUSR

(EREDES : 5738 7T A)

FEAAE

T2 9% 48 1BR%E

0 BRERA | 5 9 8 | BEORH
E & |2 =% 8 8|28 I B % | BEfRoAR B #AH
B | (hETRE) GsnEn| £ B B | = £AE
Rx BB |Bm 181025 | 74 | B | ohs 3 =" R 18.3,15 | 29,41
E4Z8 33,3
1% TRF [ 33 2 15 59 | & | &fim B " R 16,3 15 | 29,4, 1
IEREZE 33,3
k5t EER | 26,9,9 66 | B | ohah XILEHRERS | ® R 253,15 | 29.4.1
8 33,3
& mF  |@ 21212 | 65 | & | 5hsH CEE) = R 16,315 | 29.4.1
REEE 33,3
%% ¥ | 3468 58 | & | SASH BEE =" R 163,15 | 29,41
E4Z58 33,3
EE 2[R0 313,17 61 | B | XmBE AARBEERE | R R 29.4.1 | 29.4.1
33,3
BB REE @M 25 2 27 67 | & | ohmh IEREZA w® R 2941 | 29,41
HEZB2SSN 33,3




